(A)

mapping position (cM)
100 80 60 40 20

120

(C)

mapping position (cM)
80 60 40 20

100

120

o IEE——
ebibmibnnbenbi

Macronutrient

K

Ca

Mg

P
LOD=3
LOD=6
LOD =13

1K

2K

3K

4K

5K 6K

chromosome

7K 8K

Analogue

Sr

Rb

LOD = 3
LOD =6
LOD =17

9K

1K

2K

3K

4K

1 1
5K 6K

chromosome

7K 8K

9K

(B)

mapping position (cM)

mapping position (cM)

100 80 60 40 20

120

20

40

60

80

100

120

1K

! i ] i :
[
| ! 1l :
!
' L Micronutrient
F 4 [ — Mn
] ; — Fe
E : ; E VA (|
: Cu
) Mo
! — LOD =3
] — LOD =7
i @ |OD = 22
[ [ [ [ [ [ [ [ [ [ [ [ [ [ [
2K 3K 4K 5K 6K 7K 8K 9K
chromosome
] ]
F ;
E . B
E i |
5 i 1
¢ |
3 2 : !
] o i
] Other
1 ] — Na
: — Al :
Cd
— LOD =3 ;
- |OD =19
. e |OD =55

1K

2K

3K

4K

1 1
5K 6K

chromosome

7K

8K

9K




